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INFORMATION

Key

STATION 0+00 = 5,000 N, 10,000 E

AZ= 327-59-41 D=  943.40 (D=798.59)
PI CURVE #1 = 5,800 N, 9,500 E RADIUS = 200’

AZ= 39-48-20 D= 1562.05 (D=1289.15)
Pl CURVE #2 = 7,000 N, 10,500 E RADIUS = 150’

AZ= 318-48-51 D=  1063.01 (D=934.92)
END OF ROAD = 7,800 N, 9,800 E
# DELTA R L C CHORD BEARING T M E PC STATION | PT STATION
1| 71-48-39 |200.00’| 250.67 | 234.58 | N03-54-00E |144.81| 38.00 | 46.92 | 7+98.59 |10+49.26
2 | 80-59-29 [150.00’| 212.04 | 194.82 | NO0-41-25W |128.09 | 35.93 | 47.25 |23+38.41 | 25+50.45

END OF ROAD = 34+85.37




